Name _______________________________________  Class _______  Date _______________


Chapter 14
Chapter Assessment
ANSWER KEY  


Chapter 12 
Chapter Test B

Multiple Choice

1.
B
2.
B
3.
A
4.
D
5.
B
6.
D
7.
A
8.
A
9.
C
10.
D
11.
D
12.
B
13.
D
14.
A
15.
B
Modified True/False

16.
T
17.
F, larger
18.
F
19.
F, organic agriculture
20.
T
Completion

21.
weathering
22.
salinization
23.
malnutrition
24.
genetically modified (GM)
25.
crop diversity
Short Answer

26.
Too many cattle compact the soil, thus reducing the fertility of the pasture because plant roots would not be able to grow. Also, when cattle overgraze pastureland, they destroy the protective cover of vegetation and this leads to erosion.
27.
An arid environment will be most at risk. Vegetation is not as resilient in arid landscapes and human practices such as deforestation or overgrazing have a more lasting effect in these environments.

28.
In traditional agriculture, energy is provided exclusively by humans and animals. In industrial agriculture, energy is provided primarily by fossil fuels.
29.
The Green Revolution saved millions of lives by increasing crop yields and updating agricultural practices around the world. Many nations have increased food security because of the Green Revolution, and the increased efficiency of agriculture has saved some ecosystems.
30.
Sustainable agriculture takes a holistic view that accounts for long-term safety of the environment, protection of crop diversity, and human health. It does not deplete soil, and considers the long-term effects of agriculture on other resources. It also recognizes the importance of agriculture to humanity by ensuring that there will be enough resources to continue to farm into the future.
Other

31.
Milk is the most efficient animal protein source in this graphic, because it requires the least input to produce.
32.
Nations with high populations tend to have less arable land, so they must farm efficiently. Meat is the least efficient source of protein, so it makes more sense to have diets that are not meat–based.
33.
A sustainable diet would be based primarily on plant-based foods, with some dairy products, and very few, if any, meat products.
34.
Such cultures live sustainably. Over the long term, their livestock are more valuable kept alive so that they can continue to provide dairy products. To kill the cattle for meat would be a huge waste of resources.
35.
Most of this energy is lost to the animal’s metabolism.
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